
Holiday Homework (2021-22) 

Class IX 

Subject - English 
 

Instructions : 

• Neatness and presentation are common parameters for most of the activities 

assigned. Please maintain the quality of work done. 

• Holiday homework will be assessed on certain parameters and marks/grade will be awarded 

accordingly. 

• Complete and submit the holiday homework timely as late submission after these dates is not 

acceptable and you will be losing the marks/grades for the same . 

1. Read the Newspaper daily and write new words with meaning .Also frame sentences. 

2. Internet is a storehouse of knowledge and wisdom and they are hazardous too. Write 

an article on the topic ‘The benefits and harms of Internet’. Word limit is 120-150 words. 

3. You encountered two strange people. They were different from normal human beings 

but they were quite interesting and exciting. As Manish\Manisha, using your ideas , write 

a diary entry in about 100-120 words narrating your experience. 

4.  Read the Novel Animal Farm by George Orwell and reduce it into a booklet. 

5. Answer the questions 1 & 2 after reading the passages: 

1. Margie even wrote about it that night in her diary. 

a. What did Margie write in her diary? 

b. What date did she put on the top of the diary page? 

c. What had she been thinking about when she started writing her diary? 

d. What did she write about Tommy? 

2. He was a round little man with a red face and a whole box of tools with dials and wires. 

He smiled at Margie and gave her an apple, then took the teacher apart. Margie had 

hoped he wouldn't know how to put it together again, but he knew how all right, and, 

after an hour or so, there it was again, large and black and ugly, with a big screen on 

which all the lessons were shown and the questions were asked. 

a. Who was the round little man? 

b. Why had he come there? Who had called him? 

c. Why did Margie hope that he wouldn‘t be able to put it together? 

d. Who/what was large and black and ugly? 



6. Answer the following questions in about 30 words: 

3. What had Tommy found in the Attic? 

4. What did Tommy‘s grandfather once told him? 

5. What did Margie‘s mother say about the teacher? 

6. What did the County Inspector tell Margie‘s mother about her score in Geography? 

7. Why did Margie say "1 wouldn't want a strange man in my house to teach me."? 

8. What do you understand by word ‗nonchalantly‘? 

7. Answer the following questions in about 100 words: 

9. Do you think the kind of school described in the story ‗The fun they had‘ is an ideal 

school? 

10. What did Margie‘s mother say about the school and why? 

8.Roll No. 1-7 will prepare Ch My Childhood for Flip Classroom. 

8-14 will prepare Poem The Lake Isle of Innisfree for Flip Classroom. 

15-21 will prepare Ch In the Kingdom Of fools for Flip Classroom. 

22-28 will prepare Ch The Happy Prince for Flip Classroom. 

29-35 will prepare Ch Kathmandu for Flip Classroom. 

36-37 will prepare Poem A Slumber did my spirit seal for Flip Classroom. 

 

                              

Subject – Hindi                             

                                                 Worksheet -1 
 
   iz”u&¼1½ fuEufyf[kr xn~;ka”k dks /;kuiwoZd i<dj iwNs x, iz”uksa ds mRrj nhft,&  

            Ik;kZoj.k uSfrdrk ls vfHkizk; gS os fo’k;]fl)kar vkSj fn”kk funsZ”k]tks euq’; vkSj I;kZoj.k 

ds chp fdz;kvksa vkSj izfrfdz;kvksa dks n”kkZrs gSa A ekuo&dsafnzr fopkj/kkjk ds vuqlkj euq’; izd`fr dk 

Lokeh gS vkSj og bls eupkgs #i esa iz;ksx dj ldrk gS A blds foijhr i`Foh vkSj izd`fr dsafnzr 

fopkj/kkjk ds vuqlkj i`Foh gekjh tuuh gS A vr% gesa i`Foh dk vknj djuk pkfg, A igys er ds 

vuqlkj i`Foh dsoy ,d xzg gS blfy, gesa oSKkfud rduhd n~okjk izkSn~;ksfxd dk fujarj fodkl 

djuk gksxk vkSj Ik;kZoj.k ds vi?kVu dks jksduk gksxk rkfd ,d LoPN ,oa LoLFk Ik;kZoj.k vkSj csgrj 

Hkfo’; dh uhao j[kh tk lds A 

             lkezkT;okn]mifuos”kokn]vkf/kiR; ds fy, la?k’kZ ]fo”o;qn~/k vkfn us vius&vius <ax ls 

I;kZoj.k dks ladV esa Mkyk gS A vkt fQj vk/kqfud izkSn~;ksfxdh dh lgk;rk ls cMs iSekus ij 

vkSn~;ksfxd mRiknu ds fy, izd`fr ds “kks’k.k us laiw.kZ fo”o esa Ik;kZoj.kh; ladV iSnk dj nsrk gS ]tks 

?kkrd fln~/k gks ldrk gS A ;g fooknkLin gS fd fodkl vk/kkfjr izkSn~;ksfxdh ojnku gS ;k fouk”k dk 

dkj.k A 



       ¼d½ Ik;kZoj.k uSfrdrk ls D;k vfHkizk; gS &                     

          ¼v½ os fo’k; fln~;kar vkSj fn”kk funsZ”k tks euq’; vkSj Ik;kZoj.k ds chp dh dsoy fdz;kvksa 

dks n”kkZrs gS A  

         ¼c½ os fo’k; fln~;kar vkSj fn”kk funsZ”k tks euq’; vkSj Ik;kZoj.k ds chp dh dsoy izfr 

fdz;kvksa dks n”kkZrs gS A  

        ¼la½ os fo’k; fln~;kar vkSj fn”kk funsZ”k tks euq’; vkSj Ik;kZoj.k ds chp dh dsoy fdz;kvksa vkSj 

izfrfdz;kvksa dks n”kkZrs gS A  

        ¼aana½ mijksDr esa ls dksbZ ugha 

       ¼[k½ ekuo dsafnzr fopkj/kkjk ds vuqlkj izd`fr dk Lokeh gS    

           ¼v½ euq’;              ¼c½ oSKkfud   

           ¼l½ rduhd            ¼n½ lHkh 

       ¼x½ fdl fopkj/kkjk ds vuqlkj i`Foh gekjh tuuh gS \           

            ¼v½ ekuo dsafnzr        ¼c½ izd`fr vkSj izd`fr dsafnzr 

            ¼l½ izkSn~;ksfxd dsafnzr   ¼n½ buesa ls dksbZ ugha   

       ¼?k½ izLrqr xn~;ka”k dk dsafnz; Hkko D;k gS \                      

            ¼v½ izd`fr ds nksgu @”kks’k.k ij fopkj O;Dr fd, x, 

            ¼c½ Ik;kZoj.k ds vi?kVu dks jksdus ds fy, ,d LoLFk vkSj LoPN I;kZoj.k dks csgrj 

Hkfo’; dh uhao j[kh tk ldrh gS                       

            ¼l½ igyk vkSj nwljk ¼n½ Ik;kZoj.k dks ladV esa Mkyuk 

       ¼M½ Ik;kZoj.k ds vi?kVu ds fy, dkSu&ls dkj.k ftEesnkj gS \   

            ¼v½ lkezkT;okn ¼c½ mifuos”kokn ¼l½ vkf/kiR; ds fy, la?k’kZ ¼n½;s lHkh              

                 O;ogkfjd O;kdj.k  

                            

       ¼2½ vfrfjDr “kCn esa ls milxZ vkSj ewy “kCn vyx dhft, &   

           ¼v½ v$frfjDr   ¼c½ vfr$fjDr    

           ¼l½ vr$fjDr     ¼n½ vR;$fjDr    

        ¼3½ ^l* milxZ ;qDr “kCn gS &                 

           ¼v½ lfUe= ]lagkj                ¼c½ lfgr ]lifjokj 

          ¼l½ lapkyu ]lEeku                 ¼n½ lPpfj=]lUekxZ 

        ¼4½ ^ltkoV*vkSj ^fy[kkoV* esa ls ewy “kCn vkSj izR;; vyx dhft, &  

            ¼v½ lt $vkoV ]fy[k$vkoV ¼c½ ltko$oV ]fy[kk$vkoV 

            ¼l½ lt$vkoV ]fy[k $vkoV   ¼n½ ltkuk$vkoV]fy[kkuk$vkoV 

 

 



         ¼5½ dqyhu “kCn esa ls ewy “kCn vkSj izR;; vyx dhft, &   

             ¼v½ dqy$bZu     ¼c½ dq$yhu 

             ¼l½ dq$bZu      ¼n½ dqyh$bu 

        ¼6½ ^uhyxk;* “kCn dk lekl foxzg dj lekl dk uke fyf[k, & 

             ¼v½ uhyxk;&lekl&foxzg 

                 f)xq lekl &lekl dk uke 

             ¼c½ uhyh gS tks xk;&lekl foxzg 

                deZ/kkj; lekl&lekl dk uke 

             ¼l½ uhyh xk;&lekl foxzg 

                 }a} lekl&lekl dk uke 

             ¼n½ uhyh gS tks xk;&lekl foxzg 

                Ckgqczhfg lekl&lekl dk uke 

         ¼7½ ^lkQ&lkQ* “kCn dk lekl foxzg dj lekl dk uke fyf[k,&  

             ¼v½ lkQ gksus okyk&lekl foxzg 

                deZ/kkj; lekl&lekl dk uke 

             ¼c½ lQkbZ ds vuqlkj&lekl foxzg 

                 }a} lekl&lekl dk uke 

             ¼l½ ftruk lkQ gks&lekl foxzg 

                 vO;;hHkko lekl&lekl dk uke 

             ¼n½ fcYdqy Li’V&lekl foxzg 

                 vO;;hHkko lekl&lekl dk uke 

          ¼8½ ^lkr lkS nksgksa dk lewg* lekl foxzg dk mfpr leLr in vkSj lekl dk uke 

crkb,&                                                 

             ¼v½ lrlbZ&leLr in  

                f)xq lekl &lekl dk uke 

             ¼c½ lIr lewg&leLr in 

                Ckgqczhfg lekl&lekl dk uke 

             ¼l½ lIr in&leLr in  

                deZ/kkj; lekl&lekl dk uke 

             ¼n½ lkrlkbZ&leLr in 

                 }a} lekl&lekl dk uke 

          ¼9½ ihrkacj “kCn dk lekl foxzg dj lekl dk uke fyf[k, &  

             ¼v½ ihr vacj&lekl foxzg 

                rRiq#’k lekl& lekl dk uke 

             ¼c½ ihyk gS vacj ftldk vFkkZr~ d`’.k&lekl foxzg 

               Ckgqczhfg lekl&lekl dk uke 

              ¼n½ deZ/kkj; lekl&lekl dk uke 

           

                         

 

 



                        Worksheet-2    
                 

iz”u&¼1½fuEufyf[kr xn~;ka”k dks /;kuiwoZd i<dj iwNs x, iz”uksa ds mRrj nhft,& 

fdruh rjg ds rks gksrs gSa ;s lius ! dqN #ykus okys ] rks dqN gWlkus  okys vkSj dqN rks ,sls 

Hk;kud fd lkus esa gh ilhuk NqMk nsa A efLr’d dh fon~;qr rjaxksa ds v/;;u ds QyLo#i vkt ge 

tku ldsa fd bulku gh ugha ] yxHkx lHkh Lru/kkjh tho lius ns[krs gSa A fpfM;kW Hkh FkksMs&cgqr 

lius ns[k gh ysrh gSa A ysfdu ljhl`Ik rFkk blls uhps dh Js.kh ds tho&tarq lius ugha ns[krs A 

lius uhan esa gh ns[ks tk ldrs gSa ] tkx`r voLFkk esa ugha A vkf[kj ge lius D;ksa ns[krs gS a \ D;k 

budk dqN vFkZ Hkh gksrk gS \ D;k buls gekjk vfLrRo ,oa Hkfo’; Hkh dqN lhek rd tqMk gS \ 

vukfn dky ls ,sls reke iz”uksa ds mRrj ikus ds iz;kl fd, tkrs jgs gSa vkSj vdlj bu liuksa dks 

Hkfo’; dh rjQ b”kkjk djus okys lk/ku ds #i esa ns[kk x;k gS A dqN yksxksa us vius liuksa dks vkxs 

pydj lp gksrs gq, Hkh ns[kk gS A lkekU; voLFkk esa ge gj jkr uhan ds de ls de nks ?kaVs lius 

ns[krs gq, fcrkrs gSa A ge D;ksa vkSj dSls lius ns[krs gSa ] bl laca/k esa oSKkfudksa dks dqN T;knk Kku 

ugha gS A lius vdlj dgkuh ;k pyfp= ds #i esa gksrs gSa A buesa ik= Hkh gksrs gSa ] fp= Hkh gksrs gSa 

rFkk vkokt Hkh gksrh gS A liuksa esa LoIu ns[kus okyk lnSo “kkfey jgrk gS A liuksa esa gekjs lkFk 

?kfVr bu ckrsa vDlj “kkfey jgrh gSa vkSj dHkh&dHkh gekjs eu esa xgjs iSBh fpark,W rFkk Mj dk Hkh 

lekos”k gksrk gS A Loiu ns[krs le; ;fn vkl&ikl vkokt gks jgh gks rks vdlj ;s vkoktsa Hkh 

lius dk fgLlk cu tkrh gSa A liuksa dks ge lkekU;% fu;af=r ugha dj ldrs A 

 

     ¼d½izkphu dky ls yksxksa us liuksa ds ckjs esa dkSu&lh /kkj.kk cuk j[kh gS \ 

     ¼[k½^liuksa dks ge lkekU;% fu;af=r ugha dj ldrs A* bl iafDr dk D;k vFkZ gS \ 

     ¼x½liuksa vkSj pyfp=ksa esa dkSu&dkSu lh lekurk,W gSa \ 

     ¼?k½ bl xn~;ka”k dk mi;qDr “kh’kZd nhft, A 

     ¼M½ ^Kku * dk foykse “kCn fyf[k, A 

   2-    funsZ”kkuqlkj mRrj nhft, & 

     ¼d½ ^ izfrosnu * “kCn esa iz;qDr milxZ o ewy “kCn fyf[k, A           

     ¼[k½  ^ vuq *milxZ ls nks “kCn cukb, A                               

     ¼x½^dgkuhdkj* “kCn esa iz;qDr izR;; o ewy “kCn fyf[k, A              

           ¼?k½ ^ fy[kkbZ * izR;; ls nks “kCn cukb, A 

      iz”u&¼3½ fuEufyf[kr leLr inksa dk foxzg dj lekl dk Hksn fyf[k,& 

         uhfrfuiq.k ] HkjisV ] iapke`r ] fxjh/kj 

   iz”u&¼4½ fuEufyf[kr xn~;ka”k dks i<dj fn, x, iz”uksa ds mRrj nhft, &          

      nqljs fnu x;k us cSyksa dks gy esa tksrk ] ij bu nksuksa us tSls ikWo u mBkus dh dle [kk yh 

Fkh A og ekjrs&ekjrs Fkd x;k ] ij nksuksa us ikWo u mBk;k A ,d ckj tc ml funZ;h us ghjk dh 

ukd ij [kwc MaMs tek, ] rks eksrh dk xqLlk dkcw ls ckgj gks x;k A gy ysdj Hkkxk A gy ] jLlh ] 

tqvk ] tksr ]lc VwV&VkV dj cjkcj gks x;k A xysa esa cMh&cMh jfLl;kW u gksrha ] rks nksuksa idMkbZ 

esa u vkrs A ghjk us ewd&Hkk’kk esa dgk&Hkkxuk O;FkZ gS A 



eksrh us mRrj fn;k&rqEgkjh rks blus tku gh ys yh Fkh A 

^vcdh cMh ekj iMsxh A* ^ iMus nks ] cSy dk tUe fy;k gS ] rks ekj ls dgkW rd cpsaxsa \* 

     ¼d½ nwljs fnu cSyksa dks fdlesa tksrk x;k \ gy esa tksrs ij cSyksa us D;k fd;k \ 

     ¼[k½ izLrqr xn~;ka”k esa ^x;k* fdldk izrhd gS \ 

     ¼x½ fdldk xqLlk dkcw ls ckgj gks jgk Fkk \ ghjk vkSj eksrh fdl dkj.k ls idMs x, \ 

 

                    ¼ikB~;&iqLrd½ 

 iz”u&¼5½ fuEufyf[kr iz”uksa esa ls fdUgh pkj ds mRrj nhft,&                   

     ¼d½ ys[kd us tkuojksa esa fdls cqn~f/keku dgk gS vkSj D;ksa \ 

     ¼[k½ NksVh cPph dh ykbZ jksVh ls cSyksa dh Hkw[k D;ksa “kkar gks tkrh Fkh \ 

     ¼x½ ewd Hkk’kk ls D;k vfHkizk; gS \ 

     ¼?k½ lqefr ys[kd ds lkFk D;ksa tk jgk Fkk \ 

 

  Worksheet -3    
 

 dbZ yksx vlk/kkj.k volj dh ckV tksgk djrs gS A lk/kkj.k volj mudh n`f’V esa mi;ksxh ugha 

jgrs A ijarq okLro esa dksbZ volj NksVk cMk ugha gS A NksVs ls NksVs volj dk mi;ksx djus ls ] 

viuh cqn~f/k dks mlh esa fHkMk nsus ls ogh NksVk volj cMk gks tkrk gS A loksZre euq’; os ugha gS ] 

tks voljksa dh ckV ns[krs jgrs gSa A ;fn geesa bPNk&”kfDr gS ] dke djus dh rkdr gS rc rks ge 

Lo;a gh muls ykHk mBk ldrs gSa A volj u feyus dh f”kdk;r detksj O;fDr gh djrs gSa thou 

voljksa dh ,d /kkjk gS Ldwy ]dkWyst dk izR;sd ikB ]ijh{kk dk le;] dfBukbZ dk izR;sd iy ] 

lnqi;ksx dk izR;sd {k.k ,d volj gS A bu voljksa ls ge uez gks ldrs gSa A bZekunkj gks ldrs gSa 

] fe= cuk ldrs gSa mRrjnkf;Roksa dk ewY; le> ldrs gSa vkSj bl izdkj mPp euq’;rk izkIr dj 

ldrs gSa A ,sls vusd yksx gSa ] tks volj dks idMdj djksMifr gks x, A ijarq voljksa dk {ks= ;gkW 

lekIr ugha gks tkrk A volj dk mi;ksx djds ge bathfu;j ] MkWDVj ] dyk &fo”kkjn ] dfo vkSj 

fon~oku Hkh cu ldrs gSa A ;n~;fi voljksa ds mi;ksx ls /ku dekuk vPNk dke gS ] ijarq /ku ls Hkh 

dgha Js’B dk;Z lkeus gS A /ku gh thou ds izR;uksa dk var ugha gS ] thou ds y{; dh pje&lhek 

ugha gS A voljksa ds lnqi;ksx ls ge loZ n`f’V ls egRoiw.kZ balku cu ldrs gSaa A 

       ¼d½ NksVk volj Hkh cMk vkSj vlk/kkj.k dc gks tkrk gS \yksx vklk/kj.k volj dh ckV D;ksa 

tksgrs gSa \                                                    ¼2½   

       ¼[k½ volj dk ykHk dSls mBk;k tk ldrk gS \ loksZRre euq’; dkSu gS \   ¼2½ 

       ¼x½ thou dks voljksa dh ,d /kkjk D;ksa dgk x;k \ blls euq’;rk dSls izkIr dh tk ldrh 

gS \                                                             ¼1½ 

       ¼?k½ volj dk mi;ksx djds ge D;k dj ldrs gSa \                     ¼1½   

   



       ¼M½ dkSu lk Js’B dk;Z gS ] tks /ku ls Hkh c<dj gS \                     ¼1½ 

       ¼p½ xn;ka”k dk mfpr “kh’kZd fyf[k, A      

      iz”u &¼2½ fuEufyf[kr lkekfld inksa dk foxzg dj lekl dk uke fyf[k, &                                                

            ¼d½ “krkCnh           ¼[k½ ns”k&fons”k                                                                                          

            ¼x½ uhyxk;             ¼?k½ vkthou                                                                                                                                                                                                                                                                                                                                         

     iz”u&¼3½  fuEufyf[kr foxzgksa ds leLr in cukdj leLr lekl dk uke fyf[k, A  

       ¼d½ dkB dh iqryh &   ¼[k½ rhu eafty okyk 

       ¼?k½ eu dk ;ksx &        ¼M½ ikWp ve`rksa dk lewg & 

       ¼N½ iwoZ vkSj if”pe &  ¼t½ vkuan esa eXu & 

    iz”u&¼4½  cgqczhfg rFkk deZ/kkj; lekl dk varj Li’V dhft, A                                                                                                                 

    iz”u& ¼5½ f}xq vkSj cgqczhfg lekl dk varj Li’V dhft, A    

¼ikB~;&iqLrd½ 

iz”u&¼6½ fuEufyf[kr xn~;ka”k dks i<dj fn, x, iz”uksa ds mRrj nhft, &          

         lqugjs ifjanksa ds [kwclwjr ia[kksa ij lokj lkWoys liuksa dk ,d gqtwe ekSr dh [kkeks”k oknh 

dh rjQ vxzlj gSA dksbZ jksd&Vksd lds ] dgkW laHko gS A bl gqtwe esa vkxs&vkxs py jgs lkfye 

vyh A vius da/kksa ij ] lSykfu;ksa dh rjg vius varghu lQj dk cks> mBk, A ysfdu ;g lQj 

fiNys reke lQjksa ls fHkUu gS A HkhM&HkkM dh ftanxh vkSj ruko ds ekgkSy esa lkfye vyh dk ;g 

vkf[kjh iyk;u gS A vc rks oks ml ou i{kh dh rjg izd`fr esa foyhu gks jgs gSa ] tks ftanxh dk 

vkf[kjh xhr xkus ds ckn ekSr dh xksn esa tk clk gks A dksbZ vius ftLe dh gjkjr vkSj fny dh 

/kMdu nsdj Hkh mls ykSVkuk pkgs ] rks og i{kh vius liuksa ds xhr nksckjk dSls xk ldsxk A 

     ¼d½ iafDr esa [kkeks”k oknh fdlds fy, iz;qDr gqvk gS \lkfye vyh fdl #i esa vkxs&vkxs c< 

jgs gSa \ 

     ¼[k½ varghu lQj D;ksa dgk x;k gS \ 

     ¼x½ lkfye vyh dks ou&i{kh D;ksa dgk x;k gS \ 

 

 iz”u&¼7½ fuEufyf[kr iz”uksa esa ls fdUgh pkj ds mRrj nhft,&                   

    ¼d½ lkfye vyh us rRdkyhu iz/kkuea=h ls tks dqN jgk mldk mu ij D;k vlj gqvk \     

     ¼[k½ ys[kd us vius ;k=k o`rkar esa frCcr dh HkkSxksfyd ;k=k dk tks fp= f[kapk gS mls vius 

“kCnksa esa fyf[k, A 

      

 

 

 



                              Worksheet -4    

iz”u&¼1½ fuEufyf[kr xn~;ka”k dks /;kuiwoZd i<dj iwNs x, iz”uksa ds mRrj nhft,& 

       ekW rq>s lyke ! gekjk ns”k Hkkjr lpeqp lalkj dk f”kjksef.k ns”k gS A ;g dsoy ,f”k;k dk 

gh fnO; Hkky ugha gSa ] vfirq fo”o dk eqdqV gS A Hkkjr izd`fr dk ikyd gS A Ng _rq,W ;gkW 

eqLkdjkrh gqbZ xqtj tkrh gSa A fla/kq ] xaxk ] ;equk ] d`’.kk ] dkosjh ] ueZnk lfjrk,W vius ve`r ty 

ls bl /kjrh dks flaprh gSa A rHkh rks ;gkW dh moZjk Hkwfe vukt mxyrh gS A Hkkjr dh Lo.kZ Hkwfe 

fonsf”k;ksa ds fy, lnk gh vkd’kZ.k dk dsanz jgh gS A fldanj dksyacl ] okldksfMxkek vkfn dh ;k=k,W 

blh rF; dks fln~/k djrh gSa A ekuo dh rks fclkr gh D;k ] nsork vkSj Hkxoku rd bl Hkwfe ij 

tUe ysus ds fy, yypkrs jgs gSa A jke ] d`’.k ] xkSre ] xq#ukud tSls vorkjh iq#’k Hkkjr esa gh 

tUes Fks A Hkkjr ekW us viuh dks[k ls vusd “kwjohjksa dks tUe fn;k A /keZohj ] nkuohj d.kZ ] ;qn~/kohj 

egkohj lc HkkjrHkwfe dh gh rks mit Fks A Hkkjr gh og ns”k gS ftlesa Kku vkSj foKku dh jf”e;kW 

lcls igys fodh.kZ gqbZ Fkha A ukyank vkSj r{kf”kyk ds [k.Mj vkt Hkh blh ckr ds lk{kh gSa A 

eksgutksnMks vkSj gMIik dk yqIr oSHko izkphu Hkkjrh; laLd`fr dk gh “ka[k Qwd jgk gS A Hkkjr vusd 

/keksZ ] laiznk;ksa ] er&erkarjksa vkSj tkfr;ksa dk ns”k jgk gS A vusd /keksZ dh f=os.kh ;gha gSa vusd 

tkfr;ksa dk laxe bl ns”k esa gqvk gS A fganq ] eqfLye ] fl[k ] tSu ] bZlkbZ vkSj ikjlh lc lq[kiwoZd 

;gkW fuokl djrs gSa A ns”k izse dh ikou xaxk Hkkjr esa cgrh gS A gekjk ns”k fonsf”k;ksa ds n~okjk 

in&nfyr Hkh gqvk gS A nks lkS o’kZ rd ge vaxzstksa ds xqyke jgs A bl fLFkfr ls gesa ns”k ds jRu 

ckyxaxk/kj fryd ] iatkc dsljh ykyk yktirjk; ] “kghn Hkxr flag ] R;kx ewfrZ panz”ks[kj vktkn ] 

ohj lqHkk’k ] egkRek xkW/kh vkfn ns”kHkDrksa us mckjk A bu yksxksa us ijra= Hkkjr dh csfM;kW dkVha A 15 

vxLr 1947 ds fnu ns”k Lora= gqvk A Lora=rk izkIr dj ysus ds ckn Hkkjrokfl;ksa us Hkkjr ds 

jk’Vªªh; xkSjo dks fnu izfrfnu c<k;k A vkt Hkkjr f”k{kk ] foKku ] jktuhfr ] izkSn~;ksfxd fodkl 

vkfn lHkh {ks=ksa esa izxfr iFk ij gS A  

       ¼d½ fonsf”k;ksa us Hkkjr ij vkdze.k D;ksa fd, \ 

       ¼[k½Kku &foKku dk dsanz Hkkjr jgk gS] bldk izek.k nhft, A  

       ¼x½ Hkkjr esa fdruh _rq,W vkrh gSa \ 

       ¼?k½ bl xn~;ka”k dks mi;qDr “kh’kZd nhft, A     

       ¼M½ Hkkjr ekW dh dks[k ls dkSu&dkSu ls “kwjohjksa us tUe fy;k gS \   

3-    funsZ”kkuqlkj mRrj nhft, &    

     ¼d½ ^ ijh{kk * “kCn esa iz;qDr milxZ o ewy “kCn fyf[k, A                                                

     ¼[k½  ^mi* milxZ ls nks “kCn cukb, A                                                     

     ¼x½  ^HkqyDdM* “kCn esa iz;qDr izR;; o ewy “kCn fyf[k, A               

     ¼?k½ ^vkbZ* izR;; ls nks “kCn cukb, A                             

iz”u&¼4½ fuEufyf[kr leLr inksa dk foxzg dj lekl dk Hksn fyf[k,& 

     jktdqekj ] ;Fkk”kfDr ] jkr&fnu             

iz”u&¼5½ fuEufyf[kr xn~;ka”k dks i<dj fn, x, iz”uksa ds mRrj nhft, &          

        MkWMs frCcr esa lcls [krjs dh txgsa gSa A lksyg l=g gtkj QhV dh ÅWpkbZ gksus ds dkj.k 

muds nksuksa rjQ ehyksa rd dksbZ xkWo&fxjkWo ugha gksrs A ufn;ksa ds eksM vkSj igkMksa ds dksuksa ds dkj.k  



cgqr nwj rd vkneh dks ns[kk ugh tk ldrk A Mkdqvksa ds fy, ;gh lcls vPNh txg gS A frCcr esa 

xkWo esa vkdj [kwu gks tk, ] rc rks [kwuh dks ltk Hkh fey ldrh gS ] ysfdu bu futZu LFkkuksa esa ejs 

gq, vkneh;ksa ds fy, dksbZ ijokg ugh djrk \ ljdkj [kwfQ;k&foHkkx vkSj iqfyl ij mruk [kpZ ugh 

djrh vkSj ogkW xokg Hkh rks dksbZ ugh fey ldrk A MdSr igys vkneh dks ekj Mkyrs gSa ] mlds ckn 

ns[krs gSa fd dqN iSlk gS fd ugha A gfFk;kj dk dkuwu u jgus ds dkj.k ;gkW ykBh dh rjg yksx 

fiLrkSy&canwd fy, fQjrs gSa a 

     ¼d½ frCcr esa MkWMs fdls dgk x;k gS \ bUgsa [krjukd D;ksa dgk x;k gS \ 

     ¼[k½ frCcr esa gfFk;kj ds dkuwu dh D;k O;oLFkk gS \ 

     ¼x½ MkWMs esa ejs gq, vkneh dh ijokg D;ksa ugha dh tkrh \ 

   iz”u&¼6½ fuEufyf[kr iz”uksa  ds mRrj nhft, &                                                 

      ¼d½ ^ nks cSyksa dh dFkk * ikB esa cSyksa ds ek?;e ls dkSu &dkSu ls uhfr & fo’k;d ewY; mHkj 

dj vk, gSa \                      

     ¼[k½ viuh ;k=k ds nkSjku ys[kd dks fdu dfBukb;ksa dk lkeuk djuk iMk \                                                   

     ¼x½ ^lkWoys liuksa dh ;kn *”kh’kZd dh lkFkZdrk ij fVIi.kh dhft, A  

      ¼x½ ys[kd yM~dksj ds ekxZ esa vius lkfFk;ksa ls fdl izdkj fiNM x;k \ 

      ¼?k½ ^ oMZ okpj ls D;k vfHkizk; gS \^^lkWoys liuksa dh ;kn ** ikB ds vk/kkj ij Li’V dhft, 

fd dkSu bl mikf/k ds ;ksX; Fks  

 

                            Worksheet -5    

 

iz”u&¼1½ fuEufyf[kr xn~;ka”k dks /;kuiwoZd i<dj iwNs x, iz”uksa ds mRrj nhft,&  

          lu~ 1924 esa xq# us vkyqok vn~oSr~ vkJe esa loZ/keZ lEesyu vk;ksftr fd;k A ;g ,f”k;k 

dk igyk vkSj lalkj dk nwljk fo”o/keZ lEesyu Fkk A fgUnw ] ckSn~/k ] tSu ] blyke ] ikjlh ] fl[k 

lHkh /keksZ ds izfrfuf/k;ksa us blesa Hkkx fy;k A Jhyadk ls Hkh izfrfuf/k vk, Fks A lEesyu LFky esa xq# 

us bl izdkj fy[kok;k &^^ ;gkW tks fo”o /keZ lEesyu vHkh lEeiUu gqvk gS ] mlesa Hkkx ysus okys 

lTtuksa ds Hkk’k.kksa ls ;g Li’V gqvk gS fd /keksZ dk lkj ,d gS A vr% /keZ dks ysdj >xMk djuk 

O;FkZ gS A gesa f”kofxfj esa ,d ,slh ikB”kkyk dh LFkkiuk djuh pkfg, ] ftlls lkjs /keksZ ds v/;;u 

dh lqfo/kk gks A** bl /keZ ikB”kkyk dks xq# us ^czge fon~;k eafnj* uke fn;k gS A dsjy esa ukjk;.k 

xq# n~okjk ykbZ xbZ lkekftd dzkfUr foLQksV ugha Fkh ] vfirq og mudh lenf”kZrk dk ifj.kke Fkh os 

lkekftd lq/kkj ds dk;Zdzeksa dks lkSgknZ ds lkFk dk;kZfUor djrs Fks] ftlls fofHkUu tkfr;ksa ds chp 

viusiu dh Hkkouk iui ldh A blds fy, mUgksaus igys yksxksa ds eu dks ifjofrZr fd;k A os lHkh 

/keksZ ds lkj #i esa ^,d tkfr ] ,d /keZ ] ,d bZ”oj * dk lans”k nsrs Fks A  

     yxHkx 40 o’kksZ esa lkoZtfud thou esa mUgksaus fdlh ds izfr dVq “kCn ugha dgk] fdlh ls fon~os’k 

ugha fd;k A mUgksaus fojks/k fd;k Fkk&ekuork vkSj Lora=rk ls lekt dks oafpr djus okys nqjkpkjksa dk 

A blls lkekftd lejlrk dh /kjk izokfgr gqbZ A lekt esa foHksn&fon~os’k dh Hkkouk lekIr gqbZ A  



       ¼d½ fdl lEesyu esa lHkh /keksZa ds izfrfuf/k;ksa us Hkkx fy;k \              

       ¼[k½ xq# th dSlh ikB”kkyk LFkfir djuk pkgrs Fks \                     

       ¼x½ ukjk;.k xq# n~okjk ykbZ xbZ dzkfUr foLQksVd D;ksa ugha Fkh \           

     ¼?k½ bl xn~;ka”k ds vk/kkj ij xq# th dh fo”ks’krk crkb, \               

     ¼M½ ^lTtu* vkSj ^Lokoyacu* “kCnksa ds milxZ o ewy “kCn crkb, A      

iz”u&¼2½ funsZ”kkuqlkj mRrj nhft, &                                      

     ¼d½   ^le* milxZ ls nks “kCn cukb, A 

     ¼[k½ ^bd* izR;; ls nks “kCn cukb, A 

iz”u&¼3½ fuEufyf[kr leLr inksa dk foxzg dk lekl dk Hksn fyf[k, &         

         pUnzeq[k ] ihrkEcj ] ekrk&firk ] n”kkuu 

iz”u&¼4½ fuEufyf[kr ifBr xn~;ka”k dks /;kuiwoZd i<dj iwNs x, iz”uksa ds mRrj nhft,&         

      bl gqtwe esa vkxs&vkxs py jgs gSa ] lkfye vyh A vius da/kksa ij ]  lSykfu;ksa dh rjg vius       

varguhu lQj dk cks> mBk, A ysfdu ;g lQj fiNys reke lQjksa ls fHkUu gS A HkhM&HkkM dh 

ftanxh vkSj ruko ds ekgkSy ls lkfye vyh dk ;g vkf[kjh iyk;u gS A vc rks oks ml ou&i{kh dh 

rjg izd`fr esa foyhu gks jgs gSa ] tks ftanxh dk vkf[kjh xhr xkus ds ckn ekSr dh xksn esa tk clk gks 

A dksbZ vius ftLe dh gjkjr vkSj fny dh /kMdu nsdj Hkh mls ykSVkuk pkgs ] rks og i{kh vius 

liuksa ds xhr nksckjk dSls xk ldsxk A 

     ¼d½ lkfye vyh dk lQj D;ksa fHkUu Fkk \                                                                  

     ¼[k½ lkfye vyh yksxksa ds gqtwe ds vkxs&vkxs D;ksa py jgs Fks \                                   

     ¼x½ HkhM&HkkM dh ftanxh vkSj ruko ds ekgkSy ls D;k rkRi;Z gS\                               

     ¼?k½ lkfye vyh dks ou&i{kh D;ksa dgk x;k gS \                                              

     ¼M½ vafre iafDr esa ^i{kh* fdlds fy, vk;k gS \                                                

                             

iz”u&¼5½ fuEufyf[kr dkO;ka”k dks i<dj fn, x, iz”uksa ds mRrj nhft, &                        

        ekuljksoj lqHkx ty ] galk dsfy djkafg A 

        eqdrkQy eqdrk pqxS ] vc mfM vur u tkfgaA 

     ¼d½ ^ekuljksoj* ls dfo dk D;k vk”; gS \                             

     ¼[k½ bl lk[kh esa lar dfo us fdldk o.kZu fd;k gsS \                                ¼x½ 

tho&thou Hkj HkVdrk jgrk gS ] mls dgkW tkdj “kkafr feyrh gS \    

iz”u&¼6½ y?kq mRrjh; iz”u&                                               

      ¼d½ dof;=h n~okjk eqfDr ds fy, fd, tkus okys iz;kl O;FkZ D;ksa gks jgsa gS \   

      ¼[k½ Kkuh ls dof;=h dk D;k rkRi;Z gS \                                 

 

 



 

 

 (Mathematics) 

 

Chapter – 1(Number Systems) 

Chapter – 2(Polynomials) 

Chapter – 3(Coordinates Geometry) 

 Chapter – 6(Lines and Angles) 

Chapter – 15(Probability) 

1. Do all the examples of above mentioned chapters. 

2. Make one project out of the two 

- Project on History of Mathematics 

- Project on Mathematics and Environment 

 

3. Do 5 Activities  from Mathematics Activity Book(Comprehensive) of the 

above mentioned Chapters.  

4. Prepare Chapter 13 and 14 for flip classes. 

5. Do the given assignments. 

 

 

 

 

Coordinates Geometry: 

Chapter - 3 

(Coordinate Geometry

 

The branch of mathematics in which geometric problems are solved through algebra by using 

the coordinate system is known as coordinate geometry 

 

 

 



Coordinate System : 

Coordinate axes: The position of a point in a plane is determined with reference to two fixed 

mutually perpendicular lines, called the coordinate axes. 

 



 

In this system, position of a point is described by ordered pair of two numbers. 

Ordered pair : A pair of numbers a and b listed in a specific order with 'a' at the first place 

and 'b' at the second place is called an ordered pair (a, b). Note that (a, b) (b, a) 

Thus (2, 3) is one ordered pair and (3, 2) is another ordered pair. 

In given figure O is called origin. 

The horizontal line X
1
OX is called the X-axis. 

The vertical line YOY' is called the Y-axis. 

P(a, b) be any point in the plane. 'a' the first number denotes the distance of point from Y-axis 

and 'b' the second number denotes the distance of point from X-axis. 

a -  X - coordinate | abscissa of P. 

b - Y - coordinate | ordinate of P. 

The coordinates of origin are (0,0) 

Every point on the x-axis is at a distance o unit from the X-axis. So its ordinate is 0. Every 

point on the y-axis is at a distance of unit from the Y-axis. So, its abscissa is 0. 

 

 

 

Note : Any point lying on X-axis or Y-axis does not lie in any quadrant. 



  

 

Section - A 

Q.1 On which axes do the given points lie? 

(i) (7, 0) (ii) (0, -3) (iii) (0, 6) (iv) (-5, 0) 

Q.2 In which quadrants do the given points 

lie? (i) (4, -2) (ii) (-3, 7) (iii) (-1, -

2) (iv) (3, 6) 

Q.3 Is P (3, 2) & Q (2, 3) represent the same point? 

Q.4 In which quadrant points P (3, 0), Q (6,0) , R (-7.0), S (0,-6), lie? 

Q.5 If a < 0 and b < 0, then the point P (a, b) lies in 

(a) quadrant IV (b) quadrant II (c) quadrant III (d) quadrant I 

Q.6 The points (other than the origin) for which the abscissa is equal to the ordinate lie in 

(a) Quadrant I only (b) Quadrant I and II  (c) Quadrant I & III (d) Quadrant II only. 

Q.7 The perpendicular distance of the point P (4,3) from the y axis is 

(a) 3 Units (b) 4 Units (c) 5 Units (d) 7 Units 

Q.8 The area of triangle OAB with 0(0, 0), A (4,0) & B(0,6) is 

(a) 8 sq. unit (b) 12 sq. units (c) 16 sq. units (d) 24 sq. units 

Section – B 

Q.9 Write down the coordinates of each of the points as shown in the following figure? 

and Name them. 

 

 



  

 

Q.10 Draw the lines X'OX and YOY1 as the axes on the plane of a paper and plot the 

given points.  (i) A(5,3)  (ii) B (-3, 2) (iii) C(-5, -4) (iv) D(2,-6) 

Section - C 

Q.11 Find the mirror images of the following point using x-axis & y-axis as 

mirror. (i) A (2, 3) (ii) B (2, -3) (iii) C (-2, 3) (iv) D (-2, -3) 

Q.12 Draw the graph of the following equations  (i) y = 3x +2 (ii) y = x 

Q.13 Draw a triangle with vertices 0 (0, 0) A (3, 0) B (3, 4). Classify the triangle and 

also find its area. 

Q.14 Draw a quadrilateral with vertices A (2, 2) B (2, -2) C (-2, -2), D (-2, 2). Classify the 

quadrilateral and also find its area. 

Q.15 Find the coordinates of point which are equidistant from these two points P(3,0) 

and Q(-3,0). How many points are possible satisfying this condition? 

 Section – D 

1. In which quadrant or on which axes do each point lies 

a) The ordinate is 3 and abscissa is – 4 b) The abscissa is – 2 and ordinate is – 

3 c) (- 3, 2) d) (0, - 4) e) (5, 0) 

2. Given point P (3, 4). What is the distance of point P from 

(a) x axis (b) y axis? 

3. Plot the points A (4, 0), B (4, 4) and C (0, 4) on the graph. Join OA, AB, BC, and CO. 

Name the figure so formed and measure its sides 



  

4. How many axis and quadrants are there in a Cartesian plane? 

5. Plot the points on a graph paper: 

(a)  (3, 4) (b) (-2, 3) (c) (-1,-2) (d) (5,-1) 

6. Check whether the points (1, 5), (0, 3) lie on the line y = 3 + 2x or not. 

7. Find the area of the triangle whose vertices are (0, 4), (0, 0) and (2, 0) by plotting them 

on graph 

8. Find the equation of a line parallel to x – axis at a distance of 2 units below x - axis 

9. Find the coordinates of the point.(a) Which lies on x and y axis both (b) Whose ordinate is – 4 and which 

lies on y axis 

(c) Whose abscissa is 5 and which lies on x – axis 

10. Write the coordinates of a point left of y – axis and on y – axis at a distance of 6 units 

11. Draw the graph of the equation y = 3x. 
 

 

 

Chapter - 15 

(PROBABILITY) 

 

1. Tom draws a marble from a bag containing 12 marbles.There are 3 red marbles, 4 
blue marbles and 5 green marbles, find the probability that he will draw a blue 
marble? 

2. A basket has 5 apples, 10 oranges and 5 bananas. Find the probability of getting out 
an apple. 

3. One card is drawn from a well-shuffled deck of 52 cards then find the probability that 
the card will be a king. 

4. Mr. And Mrs. X stays in a house along with their seven children. The female to male 
ratio in the family is 1:2. Find the probability that all the children are either boy or girl 

5. The record of a weather station shows that out of the past 200 consecutive days, its 
weather forecasts were correct 150 times then find the probability that on a given 
day it was correct . 

6. A drawer contains 8 red socks, 3 white socks and 5 blue socks. Without looking, 
Mayank draws out a pair of socks. Find the probability that the pair of socks is white 

7. Two coins are tossed simultaneously 100 times and we get the following outcomes :(i) 
One head = 20 (ii) Two heads = 50. Find the probability that there is no head. 

8. Two coins are tossed simultaneously 100 times and we get the following outcomes :(i) 
No head = 30 (ii) One head = 20. 
Find the probability of getting two heads. 



  

9. 8 bags of wheat flour, each marked 10 kg, actually contained the following weights of 
flour(in kg) 
10.01, 9.97, 10.03, 9.96, 10.04, 10.06, 10.02, 9.98 

Find the probability that any of these bags chosen at random contain less than 10 kg 

of wheat 

10. In a match, a batsman hits a boundary 6 times out of 30 balls he plays. Find the 
probability that he did not hit a boundary. 

11. A die is thrown, find the probability of getting (i) a prime number (ii) an even number 
12. In a cricket match, a batsman hits the ball 24 times out of 72 balls he plays. Find the 

probability that he did not hit the ball. 
13. The record of a weather station shows that out of the past 200 consecutive days, its 

weather forecasts were correct 180 times.What is the probability that on a given day 
it was correct and also find the probability on a given day it was not correct? 

14. One card is drawn from a well-shuffled deck of 52 cards then find the probability that 
the card will be a Jack . 

15. A card is being lost from a well shuffled pack of 52 cards. Find the probability that 
card will be a face card? 
 

 
CHAPTER 6: LINES AND ANGLES 

 

 

VERY SHORT ANSWER TYPE QUESTIONS 

Q1. If the complement of an angle is equal to the supplement of four times the angle, then 

find the measure of the angle. 

Q2. In a ∆ABC, LA +LB= 110°, LC+LA=135°. Find LA. 

Q3. In the given figure, what value of x will make AOB a line? 

Q4. In the given figure, ABIIED, find x. 

 

SHORT ANSWER TYPE QUESTIONS 
Q5. Determine the value of x in the given figure if ABIICDIIEF 



  

i. ii. 

Q6. In a triangle if 4LA = 3LB = 12LC, find all the angles. 

Q7. The angles of a triangle are in the ratio 3:7:8. Find the angles of the 

triangle. Q8. In the given figure, l II m. Show that L1 +L2 – L3= 180°. 

Q9. In the given figure find the value of x. 

 



  

Q10. Find x if AB II CD II EF. 

 

 

Q11. If a transversal cuts two parallel straight lines and is perpendicular to one of them, 

show that it will be perpendicular to the other line also. 

LONG ANSWER TYPE QUESTIONS 

Q12. If two parallel lines are intersected by a transversal, show that the bisectors of any 

corresponding angles are parallel. 

Q13. If two lines are intersected in such a way that the bisectors of a pair of corresponding 

angles are parallel, show that the given lines are parallel to each other. 

Q14. Prove that the bisectors of a pair of alternate angles of two lines 

are parallel. Q15. In the given figure, TUII SR and TRIISV, then find 

La and Lb. 

 

Q16. In the given figure, prove that LP + LQ + LR + LS + LT is equal to two right angles. 

Q17. In the given figure, bisector of LB and LD of a quadrilateral ABCD meet CD and AB 

produced at P and Q respectively. Prove that LP + LQ = (LABC + LADC)/2. 



 

 

 

Subject - Physics 

Holiday Homework 

Instruction- 

 Holiday homework should be completed in separate notebook. 

 Do neat and clean work 

 Make the proper notes for flip class. 

 

1. Make 20 question from chapter – ―Motion, Force and Laws of Motion‖ 

along with answer.( Pattern – It includes objective type, short, long and 

diagram based answer type) 

2. Prepare chapter –―Prepare chapter Motion , Force and Laws of Motion‖ 

for periodic test. 

3. Write the given practical in practical file – 

i.  Verification of the laws of reflection of sound. 

ii. Determination of the density of solid (denser than water) by 

using a spring balance and measuring cylinder. 

 

4. Make a working model on Newton‘s 3
rd

 law in group of three. 

5. Learn about Sir Issac Newton and Albert Einstein and write a report on 

their different theories. 

6. Prepare the following topic for ― Flip class‖ 

i. Roll No. 1 to 7 – Motion and different types of motion, 

Equation of Motion. 

ii. Roll no. 8 to 14 – Force and Inertia. 

iii. Roll No. 15 to 21 – Laws of Motion, Conservation of 

Momentum. 

iv. Roll no. 22 to 28 – Motion and different types of motion, 

Equation of Motion. 

v. Roll No. 29 to 37 – Laws of Motion, Conservation of 

Momentum. 

7. Movies that you can watch during your holidays: Gravity, Interstellar. 

Write the summary of any one of the movie and think of the situation if 

you were the main character of the movie. 

8. Do the given assignment. (Write the complete answer of objective 

question) 

 



 

 

 

Assignment 

1. Explain Laws of Motion. 

 

2. Differentiate between Path Length and displacement?  

 

3. Derive graphically the first equation of motion S = ut+1/2at
2
?  

4. Calculate the acceleration of a body which starts from rest and travels 87.5m 

in    5 sec? 

5. Define non-uniform velocity and uniform acceleration? 

6. A car moving with a certain velocity comes to a halt if the retardation was 

5m/s
2
, find the initial velocity of the car?  

7. Two boys A and B, travel along the same path. The displacement – time                          

graph for their journey is given in the following figure.  

 
  (a) How far down the road has B travelled when A starts the 

journey?  

(b)Without calculation, the speed, state who is traveling faster A or 

B?  

(c) What is the speed of A?  

(d)What is the speed of B?  

(e) Are the speed of A and B uniform?  

(f) What does point X on the graph represent?  

 

8. A bullet fired against a glass window pane makes a hole in it, and the glass 

pane is not cracked. But on the other hand, when a stone strikes the same glass 

pane, it gets smashed. Why is it so? 

9. Why does a boat tend to leave the shore, when passengers are alighting from 

it? 

10. Water sprinkler used for grass lawns begins to rotate as soon as the water is 

supplied. Explain the principle on which it works. 



 

 

11. A goalkeeper in a game of football pulls his hands backwards after holding 

the ball shot at the goal. This enables the goalkeeper to 

(a) exert larger force on the ball 

(b) reduce the force exerted by the balls on the hands 

(c) increase the rate of change of momentum 

(d) decrease the rate of change of momentum 

 

12. The inertia of an object tends to cause the object 

(a) to increase its speed 

(b) to decrease its speed 

(c) to resist any change in its state of motion 

(d) to decelerate due to friction 

 

13. A passenger in a moving train tosses a coin which falls behind him. It means 

that motion of the train is 

(a) accelerated 

(b) uniform 

(c) retarded 

(d) along circular tracks 

 

14. An object of mass 2 kg is sliding with a constant velocity of 4 ms
-1

 on a 

frictionless horizontal table. The force required to keep the object moving with 

the same velocity is 

(a) 32 N 

(b) 0 N 

(c) 2 N 

(d) 8 N 

 

15. Rocket works on the principle of conservation of 

(a) mass 

(b) energy 

(c) momentum 

(d) velocity 

 

16. A water tanker filled up to 2/3 of its height is moving with a uniform speed. 



 

 

On a sudden application of brakes, the water in the tank would 

(a) move backward 

(b) move forward 

(c) be unaffected 

(d) rise upwards

 
17. If the mass of a body is doubled and its velocity becomes half, then the 

linear momentum of the body will 

(a) remain same 

(b) become double 

(c) become half 

(d) become four times. 

 

18. The displacement of the body can be-  

(a) Positive  

(b) negative  

(c) Zero  

(d) All of these. 

 

19. Which of the following gives both direction and magnitude-  

(a) scalar  

(b) vector  

(c) Both  

(d) None. 

 

20. If a moving body comes to rest, then its acceleration is-  

(a) Positive  

(b) negative  

(c) Zero  

(d) All of these depending upon initial velocity. 

 

21. From the given v-t graph, it can be inferred that the object is 

 



 

 

(a) At rest 

(b) In uniform motion 

(c) Moving with uniform acceleration     

(d) In non-uniform motion 

22. Suppose a boy is enjoying a ride on a marry-go-round which is moving with 

a constant speed of 10 m/s. It implies that the boy is: 

(a) At rest 

(b) Moving with no acceleration 

(c) In accelerated motion 

(d) Moving with uniform velocity 

23. A particle is moving in a circular path of radius r. 

 

The displacement  after half a circle would be: 

(a) Zero                                                                

(b) πr 

(c) 2r                                                      

(d) 2πr 

24. Which of the following can sometimes be ‗zero‘ for a moving body? 

i. Average velocity 

ii. Distance travelled 



 

 

iii. Average speed                            

iv. Displacement 

(a) Only (i) 

(b) (i) and (ii) 

(c) (i) and (iv) 

(d) Only (iv) 

25. Which of the following statement is correct regarding velocity and speed of 

a moving body? 

(a) Velocity of a moving body is always higher than its speed 

(b) Speed of a moving body is always higher than its velocity 

(c) Speed of a moving body is its velocity in a given direction 

(d) Velocity of a moving body is its speed in a given direction 

26. When a car driver travelling at a speed of 10 m/s applies brakes and brings 

the car to rest in 20 s, then the retardation will be: 

(a) + 2 m/s
2
                                         

(b)  − 2 m/s
2
 

(c)  − 0.5 m/s
2
                                    

(d) + 0.5 m/s
2 

 

27. The speed - time graph of a car is given here. Using the data in the graph 

calculate the total distance covered by the car. 

 

(a) 1250 m                                           



 

 

(b) 875 m 

(c) 1500 m                                           

(d) 870 m 

28. A car of mass 1000 kg is moving with a velocity of 10 m/s. If the velocity-

time graph for this car is a horizontal line parallel to the time axis, then the 

velocity of the car at the end of 25 s will be: 

(a) 40 m/s                                            

(b) 25 m/s 

(c) 10 m/s                                            

(d) 250 m/s 

29. Which of the following is most likely not a case of uniform circular motion? 

(a) Motion of the earth around the sun 

(b) Motion of a toy train on a circular track 

(c) Motion of a racing car on a circular track 

(d) Motion of hours‘ hand on the dial of a clock 

30. When a body moves uniformly along the circle, then:-  

(a) its velocity changes but speed remains the same  

 

(b) its speed changes but velocity remains the same  

 

(c) both speed and velocity changes  

 

(d) both speed and velocity remains same 
 

 

 

 

 

 



 

 

Subject -Biology 

Instruction- 

 Holiday homework should be completed in separate notebook. 

 Do neat and clean work 

 Diagram should be drawn by pencil. 

 Make the proper notes for flip class. 

 

9. Make 25 question from chapter – ―The Fundamental Unit of Life, Tissue 

and Why do we Fall Ill?‖ along with answer. ( Pattern – It includes 

objective type, short, long and diagram based answer type) 

10. Draw the labeled diagram of ―plant cell, animal cell. mitochondaria, 

chloroplast, neuron‖  

11. Prepare chapter – ―The Fundamental Unit of Life, Tissue and Why do we 

Fall Ill?‖ for periodic test. 

12. Make a collage of – (Use Colourful sheets or Chart paper) 

i. Roll No. 1 to 7 – Different types of bacterial disease  

ii. Roll no. 8 to 14 – Different types of fungal disease 

iii. Roll No. 15 to 21 – Different types of protozoan disease 

iv. Roll no. 22 to 28 – Different types of virus disease 

v. Roll No. 29 to 37 – Different types of vaccines against 

several disease 

13. Write the given practical in practical file – 

i. Preparation of stained temporary mounts of (a) onion peel, 

(b) human cheek cells & to record observations and draw 

their labeled diagrams.   

ii. Identification of Parenchyma, Collenchyma and 

Sclerenchyma tissues in plants, striped, smooth and cardiac 

muscle fibers and nerve cells in animals from prepared 

slides. Draw their labeled diagrams.   

 

14. Make a working model on any topic in group of three. 

15. Prepare the following topic for ― Flip class‖ 

i. Roll No. 1 to 7 – Components of cell 

ii. Roll no. 8 to 14 – Cell Organelle 

iii. Roll No. 15 to 21 – Plant Tissue 

iv. Roll no. 22 to 28 – Animal tissue (Epithelial and Nervous) 

v. Roll No. 29 to 37 –Animal tissue ( Muscular and 

Connective) 

 



 

 

16. Do the given assignment. (Write the complete answer of objective 

question) 

 

Assignment 

1. Which of the following can be made into crystal? 

(a) A Bacterium 

(b) An Amoeba 

(c) A Virus 

(d) A Sperm 

 

2. A cell will swell up if 

(a) The concentration of water molecules in the cell is higher than the 

concentration of water molecules in surrounding medium 

(b) The concentration of water molecules in surrounding medium is higher 

than water molecules concentration in the cell 

(c) The concentration of water molecules is same in the cell and in the 

surrounding medium 

(d) Concentration of water molecules does not matter 

 

3. Chromosomes are made up of 

(a) DNA 

(b) Protein 

(c) DNA and protein 

(d) RNA 

 

4. Which of these options are not a function of Ribosomes? 

(i) It helps in manufacture of protein molecules 

(ii) It helps in manufacture of enzymes 

(iii) It helps in manufacture of hormones 

(iv) It helps in manufacture of starch molecules 

(a) (i) and (ii) 

(b) (ii) and (iii) 

(c) (iii) and (iv) 

(d) (iv) and (i) 

 

5. Which of these is not related to endoplasmic reticulum? 

(a) It behaves as transport channel for proteins between nucleus and 

cytoplasm 

(b) It transports materials between various regions in cytoplasm 

(c) It can be the site of energy generation 

(d) It can be the site for some biochemical activities of the cell 



 

 

 

6. Following are a few definitions of osmosis 

Read carefully and select the correct definition 

(a) Movement of water molecules from a region of higher concentration to 

a region of lower concentration through a semipermeable membrane 

(b) Movement of solvent molecules from its higher concentration to lower 

concentration 

(c) Movement of solvent molecules from higher concentration to lower 

concentration of solution through a permeable membrane 

(d) Movement of solute molecules from lower concentration to higher 

concentration of solution through a semipermeable membrane 

 

7. Plasmolysis in a plant cell is defined as 

(a) Break down (lysis) of plasma membrane in hypotonic medium 

(b) Shrinkage of cytoplasm in hypertonic medium 

(c) Shrinkage of nucleoplasm 

(d) None of them 

 

8. Which of the following are covered by a single membrane? 

(a) Mitochondria 

(b) Vacuole 

(c) Lysosome 

(d) Plastid 

 

9. Find out the false sentences 

(a) Golgi apparatus is involved with the formation of lysosomes 

(b) Nucleus, mitochondria and plastid have DNA; hence they are able to 

make their own structural proteins 

(c) Mitochondria is said to be the power house of the cell as ATP is 

generated in them. 

(d) Cytoplasm is called as protoplasm 

 

10. Find out the correct sentence 

(a) Enzymes packed in Lysosomes are made through RER (rough 

endoplasmic reticulum) 

(b) Rough endoplasmic reticulum and smooth endoplasmic reticulum 

produce lipid and protein respectively 

(c) Endoplasmic reticulum is related with the destruction of plasma 

membrane 

(d) Nucleoid is present inside the nucleoplasm of eukaryotic nucleus 

 

11. Which cell organelle plays a crucial role in detoxifying many poisons and 

drugs in a cell? 



 

 

(a) Golgi apparatus 

(b) Lysosomes 

(c) Smooth endoplasmic reticulum 

(d) Vacuoles 

 

12. The proteins and lipids, essential for building the cell membrane, are 

manufactured by 

(a) Rough endoplasmic reticulum 

(b) Golgi apparatus 

(c) Plasma membrane 

(d) Mitochondria 

 

13. The undefined nuclear region of prokaryotes are also known as 

(a) Nucleus 

(b) Nucleolus 

(c) Nucleic acid 

(d) Nucleoid 

 

14. The cell organelle involved in forming complex sugars from simple sugars 

are 

(a) Endoplasmic reticulum 

(b) Ribosomes 

(c) Plastids 

(d) Golgi apparatus 

 

15. Which out of the following is not a function of vacuole? 

(a) Storage 

(b) Providing turgidity and rigidity to the cell 

(c) Waste excretion 

(d) Locomotion 

 

16. Which of the following tissues has dead cells? 

(a) Parenchyma 

(b) Sclerenchyma 

(c) Collenchyma 

(d) Epithelial tissue 

 

17. Find out incorrect sentence 

(a) Parenchymatous tissues have intercellular spaces 

(b) Collenchymatous tissues are irregularly thickened at corners 

(c) Apical and intercalary meristems are permanent tissues 

(d) Meristematic tissues, in its early stage, lack vacuoles 

 



 

 

18. Girth of stem increases due to 

(a) Apical meristem 

(b) Lateral meristem 

(c) Intercalary meristem 

(d) Vertical meristem 

 

19. Which cell does not have perforated cell wall? 

(a) Tracheids 

(b) Companion cells 

(c) Sieve tubes 

(d) Vessels 

 

20. Intestine absorb the digested food materials. What type of epithelial cells 

are responsible for that? 

(a) Stratified squamous epithelium 

(b) Columnar epithelium 

(c) Spindle fibres 

(d) Cuboidal epithelium 

 

21. A person met with an accident in which two long bones of hand were 

dislocated. Which among the following may be the possible reason? 

(a) Tendon break 

(b) Break of skeletal muscle 

(c) Ligament break 

(d) Areolar tissue break 

 

22. While doing work and running, you move your organs like hands, legs etc. 

Which among the following is correct? 

(a) Smooth muscles contract and pull the ligament to move the bones 

(b) Smooth muscles contract and pull the tendons to move the bones 

(c) Skeletal muscles contract and pull the ligament to move the bones 

(d) Skeletal muscles contract and pull the tendon to move the bones 

 

23. Which muscles act involuntarily? 

(i) Striated muscles 

(ii) Smooth muscles 

(iii) Cardiac muscles 

(iv) Skeletal muslces 

(a) (i) and (ii) 

(b) (ii) and (iii) 

(c) (iii) and (iv) 

(d) (i) and (iv) 

 



 

 

24. Meristematic tissues in plants are 

(a) Localised and permanent 

(b) Not limited to certain regions 

(c) Localised and dividing cells 

(d) Growing in volume 

 

25. Which is not a function of epidermis? 

(a) Protection from adverse condition 

(b) Gaseous exchange 

(c) Conduction of water 

(d) Transpiration 

 

26. Select the incorrect sentence 

(a) Blood has matrix containing proteins, salts and hormones 

(b) Two bones are connected with ligament 

(c) Tendons are non-fibrous tissue and fragile 

(d) Cartilage is a form of connective tissue 

 

27. Cartilage is not found in 

(a) Nose 

(b) Ear 

(c) Kidney 

(d) Larynx 

 

28. Fats are stored in human body as 

(a) Cuboidal epithelium 

(b) Adipose tissue 

(c) Bones 

(d) Cartilage 

 

29. Bone matrix is rich in 

(a) Fluoride and calcium 

(b) Calcium and phosphorus 

(c) Calcium and potassium 

(d) Phosphorus and potassium 

 

30. Contractile proteins are found in 

(a) Bones 

(b) Blood 

(c) Muscles 

(d) Cartilage 

 

31. If cells of onion peel and RBC are separately kept in hypotonic solution, 



 

 

what among the following will take place? Explain the reason for your 

answer. 

(a) Both the cells will swell. 

(b) RBC will burst easily while cells of onion peel will resist the bursting to 

some extent. 

(c) a and b both are correct. 

(d) RBC and onion peel cells will behave similarly. 

 

32. Name the organelles which show the analogy written as under 

(a) Transporting channels of the cell—— 

(b) Power house of the cell—— 

(c) Packaging and dispatching unit of the cell—— 

(d) Digestive bag of the cell—— 

(e) Storage sacs of the cell—— 

(f) Kitchen of the cell—— 

(g) Control room of the cell—— 

 

33.In brief state what happens when 

(a) dry apricots are left for sometime in pure water and later transferred to 

sugar solution? 

(b) a Red Blood Cell is kept in concentrated saline solution? 

(c) the Plasma-membrane of a cell breaks down? 

(d) rheo leaves are boiled in water first and then a drop of sugar syrup is 

put on it? 

(e) golgi apparatus is removed from the cell? 

 

34. Differentiate the following activities on the basis of voluntary (V) or 

involuntary (I V) muscles. 

(a) Jumping of frog 

(b) Pumping of the heart 

(c) Writing with hand 

(d) Movement of chocolate in your intestine 

 

35. Fill in the blanks 

(a) Lining of blood vessels is made up of———. 

(b) Lining of small intestine is made up of ———. 

(c) Lining of kidney tubules is made up of———. 

(d) Epithelial cells with cilia are found in———of our body. 

 

 

 



 

 

Subject: Social Science 

1. Map work 

 Learn and write the states of  India and their capitals and show them on 

the map given below. 

 Lable and locate on the Outline political map of  France given below 

-Bordeaux 

-Nantes 

-Paris 

-Marseilles(refer NCERT for marking map) 

 

 Label and locate Tropic of Cancer, Standard Meridian on outline 

political map of India given below. 

 

 Label and Locate various physical features of India on an outline 

map of India given below: 

Mountain Ranges: The Karakoram, The Zasker, The Shivalik, The 

Aravali, The Vindhya, The Satpura, Western & Eastern Ghats 

Mountain Peaks – K2, Kanchan Junga, Anai Mudi 

Plateau - Deccan Plateau, Chotta Nagpur Plateau, Malwa Plateau 

Coastal Plains - Konkan, Malabar, Coromandal & Northern Circar 

(Location and Labelling) 

2. Frame and write in Fair notebook- 

a. Very short answer type questions(1 mark type questions (10 Questions 

from each lesson) 

b. Short answer type questions (5 from each chapter): History-1, 

Geography-1,2  Political Science-1  Eco-1 

3.  Revise Question Answers from each lesson. 

4. To make any one art integrated project based on the topic from the  

book Geography and History. 

5. Below given are the topics assigned to the students for the 

presentation in the class (students can prepare their presentation 

along with the material- PPT/Notes/Flash cards/Flow chart/ Video 

etc) 

 



 

 

Roll no Topic Assigned (Chapter) 

1-5 Ch-1 Geo India- Size and 

Location 

5-10 Ch-2 Geo Physical features of 

India - Himalayas, Northern 

Plains 

10-15 Ch-2 Geo Physical features of 

India - Plateau, Coastal Plains 

15-20 Ch-1 Political Science 

 What is Democracy Why is 

Democracy- What is democracy 

20-25 Ch-1 Political Science 

What is Democracy Why is 

Democracy- Why is Democracy 

25-30 Ch-1 Economics- Village 

Pallampur- Land, Labour 

30-35 Ch-1 History French Revolution- 

French Society during the late 

18
th

 century. 

35-37 Ch-1 History French Revolution- 

The Outbreak of the Revolution. 

 

6.  Do the given Assignments. 

Note Kindly Follow a separate notebook for Holiday’s Homework. 

7. Every student has to compulsorily undertake Project on the topic- 

Disaster Management( as per CBSE assessment) 

Students should take care of the following things while making project: 

-Use different primary and secondary resources to prepare the project 

-Various forms of art may be integrated in the project work 

-Project report should be hand written and contains pictures 



 

 

-Project prepared should be made from eco friendly products 

-Follow the sequence given below for the project report: 

 Front page      

 Acknowledgement 

 Index 

 Aim of the project 

 Explanation( meaning, Illustrations, steps by government, lesson learnt, 

etc) 

 Bibliography 

 Certificate 

 Conclusion 

Student can take any of the  below given topic for Disaster Management 

Project: ( any one) 

1. Role of Government/ Non Government functionaries in your locality in 

Disaster Management. 

2. Generating Awareness on Disaster Management 

3. Preparation of Models of Disaster Resilient Structures 

4. Pocket Guide of First Aid 

5. Communication Facilities for Disaster Management 

6. Preparation of Disaster Contingency Plan 

Assignment 1. 

History 

Q1. Mention one revolutionary social reform implemented by the Jacobin Govt. 

in the French colonies. (1) 

Q2. Name any two French colonies in the Caribbean Island. (1) 

 Q3. Between which continents was the triangular slave trade conducted? (1) 

Q4. Why was there a shortage of labour in the plantations which were 

established in the colonies? How was this shortage fulfilled? (2+1=3) 

Q6. Name the French ports that became well known for slave trade. (1) 

Q7. Mention an important law that was implemented by the National Assembly 

immediately after the storming of the Bastille. Which citizens' right was 

guaranteed by this law? How did the new law help in conducting the French 

Revolution of 1789? (1+1+3=5 ) 



 

 

Q8. When did Napoleon Bonaparte become the Emperor of France? Explain his 

role as a moderniser of Europe. (1+2=3 ) 

Q9. What was the most important legacy of the 1789 French Revolution? (1)  

Assignment 2 

Economics 

1.Which of the following is grown in the rainy season?  

(a) Jowar and bajra     (b) Wheat 

(c) Soyabean      (d) Rice 

2. Which of the following is a Rabi crop?  

(a) Wheat       (b) Rice 

(c) Cotton       (d) Jowar and bajra 

3. Which of the following is fixed capital? 

(a) Tools and machines    (b) Fertilisers and pesticides 

 (c) Soil       (d) Seeds 

4. Which of the following is a standard unit of measurement of land? 

(a) Bigha       (b) Hectare 

(c) Acre      (d) Guintha 

5.Money in hand is an example of : 

(a) Human capital     (b) Fixed capital 

(c) Working capital    (d) Physical capital 

6. HYV seeds stands for: 

(a) Heavy yielding variety seeds   (b) High yielding variety seeds 

(c) Half yielding variety seeds   (d) None 

7. What is the main production activity in Palampur village? 

(a) Farming      (b) Animal husbandry 

(c) Transport     (d) Small-scale manufacturing  

8. Modern farming methods were tried in India for the first time in 

(a) Punjab      (b) Western U.P. 



 

 

(c) Haryana       (d) All the above  

9. Which of the following is a modern farming method? 

(a) Multiple cropping     (b) Use of HYV seeds 

(c) Use of chemical fertilisers   (d) Both (b) and (c) 

10. The activities such as small manufacturing, transport, shopkeeping are 

referred to as 

(a) Non-economic activities    (b) Non-farming activities 

(c) Non-traditional activities   (d) Non-market activities  

11. The concept of White Revolution is associated with 

(a) food crops      (b) milk 

(c) cotton       (d) pesticides 

12. Scope of farming activity is limited in Palampur due to 

(a) Fixed amount of land     (b) lack of irrigation 

(c) lack of labour      (d) none of the above  

13. Consumption of chemical fertilisers is highest in which state of India? 

(a) Punjab       (b) Haryana 

 (c) Rajasthan      (d) Himachal Pardesh 

14. Green Revolution is related to : 

(a) Milk Production     (b) Grain production 

(c) Fish production     (d) none of these 

15. Where do most of the small farmers borrow money to arrange for the capital 

in Palampur? 

(a) Banks      (b) Co-operative Societies  

(c) Village money lenders    (d) Friends and Relatives 

 

 

 

 



 

 

 

 

 

 

Map 1 

Political Map of France 

 
 

 

 

 

 

 

 

 



 

 

 

 

 

 

 

 

Map-2 

Outline political Maps of India 

 
 



 

 

 
 

Computers 

 Prepare a report on all the design of computers with their 
images. 
(Abacus, Napier bones, Pascal’s Adding machine, Leibnitz 

Calculator, Jacquard Loom, Babbage engine) 

 Describe and arrange the images of the following: 
 Light pen 
 Digitizers 
 Mic 
 MICR 
 OCR 

 Difference b/w Impact and Non-Impact printers. Explain with 
two examples of each. 

 

 


